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No Supplementary answer-book will be given to any candidate. Hence the candidates

should write their answers precisely in the main answer—book only.

All the parts of one question should be answered at one place in the answer-book. One

complete question should not be answered at different places in the answer-book.
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Write your roll number on question paper before start writing answer of questions.

vl &% IW faet § @ 99-1 W 9 T vy fod)

Attempt any five questions in all, selecting one question from each Unit.
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UNIT-I/5eh3-1

1. Define Classification. Discuss the purpose and methods of Classification giving suitable
examples. 20
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2. Discuss the utility of the graphic method of presenting statistical data. What points should
be taken into account in the construction of Graph? 20
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UNIT-I/3&3-11
_3" Calculate the value of Mean, Mode and Median from the following data : 20
Frafafas wosl @ @ gfos 1@ qwes 51 gea 7" S -
Income between (Rs.) 100 & 200 100 & 300 100 & 400 100 & 500 100 & 600
No. of persons 15 33 63 83 100

@’ The population of a city increased from 20 Lakhs in 2010 to 25 Lakhs in 2020. Find the

rate of growth and what will be population of the city in 2030 if it increases on the
same rate? 20

qasma’lm2010ﬁzomﬁmzozoﬁzsws‘rm‘laﬁaﬁq&nmaﬁﬁq
aa 3fs T < @ B ® at 2030 ¥ IW R # sEEn w1

UNIT-II/g&3-111

/5’ What is meant by Dispersion? What are different methods of measuring Dispersion?

Explain any one of them with illustrations. 5+10+5
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6. Calculate Bowley's coefficient of skewness from the following data : 20
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Commission No. of Commission No. of
Payments Salesmen Payments Salesmen
110-115 4 136-140 90
115-120 10 140-146 62
120-125 26 145-160 33
125-130 49 160-156 17
180-185 72 166-160 7
UNIT-IV/3ETE-IV

\.7%~ Explain the meaning and significance of the concept of correlation. Give the general rules for
interpreting its coefficient. 5+8+7
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8. The following table gives the result of Secondary examination held on 2021. Calculate the
coefficient of Correlation between age and Failure : https://www.uoronline.com 20
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Age of % of Age of % of
Candidates Failure Candidates Failure
13-14 39 18-19 39
14-15 41 19-20 43
15-16 43 20-21 47
16-17 34 21-22 55

17-18 37
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UNIT-V/3&TE-V

From the following data, for the working class cost of living index of a city construct the
index number of period A and B : 20
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PRICE INDEX FOR THE ITEMS
Items Weights Period A Period B
Food 45 110 135
Clothing 9 125 130
Fuel and Lighting 8 110 130
Rent 13 100 110
Miscellaneous 15 115 130

10. Interpolate the missing figure in the following table :
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X: 2006 2007 2008 2009 2010 2011 2012
Y: 1331 1728 2179 ? 3375 4096 4913
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